



Sequences

The number corresponding to position 1 is 2, which equals 2^1 . The number corresponding to position 2 is 4, which equals 2^2 .

For positions 3, 4, 5, 6, and 7, the corresponding numbers are 8, 16, 32, 64, and 128, which equal 2^3 , 2^4 , 2^5 , 2^6 , and 2^7 , respectively.

For a general value of k, let A_k be the number of ancestors in the kth generation back. The pattern of computed values strongly suggests the following for each k:

$$A_k=2^k.$$

Instructor: Murad Njoum





Example 1 – Finding Terms of Sequences Given by Explicit Formulas
Define sequences
$$a_1, a_2, a_3, ...$$
 and $b_2, b_3, b_4, ...$ by the following explicit
formulas:
 $a_k = \frac{k}{k+1}$ for all integers $k \ge 1$,
 $b_i = \frac{i-1}{i}$ for all integers $i \ge 2$.
Compute the first five terms of both sequences.
Solution:
 $a_1 = \frac{1}{1+1} = \frac{1}{2}$ $b_2 = \frac{2-1}{2} = \frac{1}{2}$
Instructor: Murad Njour 6



EXAMPLE Summation Notation Consider again the example in which $A_k = 2^k$ represents the number of ancestors a person has in the *k*th generation back. What is the total number of ancestors for the past six generations? The answer is $A_1 + A_2 + A_3 + A_4 + A_5 + A_6 = 2^1 + 2^2 + 2^3 + 2^4 + 2^5 + 2^6 = 126$. It is convenient to use a shorthand notation to write such sums.







Example 6 – Changing from Summation Notation to Expanded Form
Write the following summation in expanded form:

$$\sum_{i=0}^{n} \frac{(-1)^{i}}{i+1}.$$
Solution:

$$\sum_{i=0}^{n} \frac{(-1)^{i}}{i+1} = \frac{(-1)^{0}}{0+1} + \frac{(-1)^{1}}{1+1} + \frac{(-1)^{2}}{2+1} + \frac{(-1)^{3}}{3+1} + \dots + \frac{(-1)^{n}}{n+1}$$

$$= \frac{1}{1} + \frac{(-1)}{2} + \frac{1}{3} + \frac{(-1)}{4} + \dots + \frac{(-1)^{n}}{n+1}$$

$$= 1 - \frac{1}{2} + \frac{1}{3} - \frac{1}{4} + \dots + \frac{(-1)^{n}}{n+1}$$
Instructor: Murad Njourn 12





Some sums can be transformed into telescoping sums, which then can be rewritten as a simple expression. For instance, observe that By Partial fraction: $\frac{1}{k(k+1)} = \frac{A}{k} + \frac{B}{(k+1)}$, after solving A=1,B=-1 $\frac{1}{k} - \frac{1}{k+1} = \frac{(k+1)-k}{k(k+1)} = \frac{1}{k(k+1)}$. Use this identity to find a simple expression for $\sum_{k=1}^{n} \frac{1}{k(k+1)}$.













Change of Variable

Observe that

$\sum_{k=1}^{3} k^2 = 1^2 + 2^2 + 3^2$

and also that

$$\sum_{i=1}^{3} i^2 = 1^2 + 2^2 + 3^2.$$

Hence

 $\sum_{k=1}^{3} k^2 = \sum_{i=1}^{3} i^2.$

This equation illustrates the fact that the symbol used to represent the index of a summation can be replaced by any other symbol as long as the replacement is made in each location where the symbol occurs.

Instructor: Murad Njoum

23

<text><text><text><text><text><text>

Example 13 – *Transforming a Sum by a Change of Variable* Transform the following summation by making the specified change of variable.

summation:
$$\sum_{k=0}^{6} \frac{1}{k+1}$$
 change of variable: $j = k+1$

Solution:

First calculate the lower and upper limits of the new summation:

When k = 0, j = k + 1 = 0 + 1 = 1.

Thus the new sum goes from j = 1 to j = 7.

When k = 6, j = k + 1 = 6 + 1 = 7.

Instructor: Murad Njoum

Example 13 – *Solution*

Next calculate the general term of the new summation. You will need to replace each occurrence of k by an expression in j:

Since
$$j = k + 1$$
, then $k = j - 1$.

Hence
$$\frac{1}{k+1} = \frac{1}{(j-1)+1} = \frac{1}{j}$$
.

Finally, put the steps together to obtain

$$\sum_{k=0}^{6} \frac{1}{k+1} = \sum_{j=1}^{7} \frac{1}{j}.$$

Instructor: Murad Njoum

26

25

cont'd



Example 14 – Solution

a. When k = 1, then j = k - 1 = 1 - 1 = 0. (So the new lower limit is 0.) When k = n + 1, then j = k - 1 = (n + 1) - 1 = n. (So the new upper limit is *n*.)

Since j = k - 1, then k = j + 1. Also note that *n* is a constant as far as the terms of the sum are concerned.

It follows that

and so the general term of the new summation is

$$\frac{k}{n+k} = \frac{j+1}{n+(j+1)}$$

Instructor: Murad Njoum





Factorial and "n Choose r" Notation

A recursive definition for factorial is the following: Given any nonnegative integer n,

$$n! = \begin{cases} 1 & \text{if } n = 0\\ n \cdot (n-1)! & \text{if } n \ge 1. \end{cases}$$

The next example illustrates the usefulness of the recursive definition for making computations.

Instructor: Murad Njoum

Simplify the following expressions: **a.** $\frac{8!}{7!}$ **b.** $\frac{5!}{2! \cdot 3!}$ **c.** $\frac{1}{2! \cdot 4!} + \frac{1}{3! \cdot 3!}$ **d.** $\frac{(n+1)!}{n!}$ **e.** $\frac{n!}{(n-3)!}$ Solution: **a.** $\frac{8!}{7!} = \frac{8 \cdot 7!}{7!} = 8$ **b.** $\frac{5!}{2! \cdot 3!} = \frac{5 \cdot 4 \cdot 3!}{2! \cdot 3!} = \frac{5 \cdot 4}{2 \cdot 1} = 10$ Instructor: Murad Njour

Example 16 – Solution	conť d
C. $\frac{1}{2! \cdot 4!} + \frac{1}{3! \cdot 3!} = \frac{1}{2! \cdot 4!} \cdot \frac{3}{3} + \frac{1}{3! \cdot 3!} \cdot \frac{4}{4}$ by multiplying each numerator and denominator by just what is necessary to obtain a common denominator	
$= \frac{3}{3 \cdot 2! \cdot 4!} + \frac{4}{3! \cdot 4 \cdot 3!}$ by rearranging factors	
$= \frac{3}{3! \cdot 4!} + \frac{4}{3! \cdot 4!}$ because $3 \cdot 2! = 3!$ and $4 \cdot 3! = 4!$	
$= \frac{7}{3! \cdot 4!}$ by the rule for adding fractions with a common denominator	
$=\frac{7}{144}$	
Instructor: Murad Njoum	33



An important use for the factorial notation is in calculating values of quantities, called <i>n choose r</i> , that occur in many branches of mathematics, especially those connected with the study of counting techniques and probability.			
	Definition		
	Let <i>n</i> and <i>r</i> be integers with $0 \le r \le n$. The symbol		
	$\binom{n}{r}$		
	is read " <i>n</i> choose <i>r</i> " and represents the number of subsets of size <i>r</i> that can be chosen from a set with <i>n</i> elements.		
Observe that the definition implies that $\binom{n}{r}$ will always be an integer because it is a number of subsets.			







Sequences in Computer Programming

An important data type in computer programming consists of finite sequences. In computer programming contexts, these are usually referred to as *one-dimensional arrays*. For example, consider a program that analyzes the wages paid to a sample of 50 workers. Such a program might compute the **average wage** and the difference between each individual wage and the average.

This would require that each wage be stored in memory for retrieval later in the calculation.

To avoid the use of entirely separate variable names for all of the 50 wages, each is written as a term of a one-dimensional array:

 $W[1], W[2], W[3], \ldots, W[50].$

Instructor: Murad Njoum



Sequences in Computer Programming

The recursive definitions for summation, product, and factorial lead naturally to computational algorithms.

For instance, here are two sets of pseudocode to find the sum of *a*[1], *a*[2], …, *a*[*n*].

The one on the left exactly mimics تقليد the recursive definition by initializing the sum to equal *a*[1]; the one on the right initializes the sum to equal 0.

Instructor: Murad Njoum



Mathematical Induction I

<u>Mathematical induction</u> is one of the more recently developed techniques of proof in the history of mathematics.

It is used to check conjectures التخمينات about the outcomes of processes that occur repeatedly and according to definite patterns.

In general, mathematical induction is a method for proving that a property defined for integers *n* is true for all values of *n* that are greater than or equal to some initial integer.

Instructor: Murad Njoum

Principle of Mathematical InductionLet P(n) be a property that is defined for integers n, and let a be a fixed integer. Lypose the following two statements are true: P(a) is true. For all integers k ≥ a, if P(k) is true then P(k + 1) is true. Then the statement for all integers n ≥ a, P(n) Is true. The validity of proof by mathematical induction is generally taken as an axiom. That is why it is referred to as the *principle* of mathematical induction rather than as a theorem.

Instructor: Murad Njoum













Example 1 – Solution contd Now the inductive hypothesis is the supposition that P(k) is true. How can this supposition be used to show that P(k + 1) is true? P(k + 1) is an equation, and the truth of an equation can be shown in a variety of ways. One of the most straightforward is to use the inductive hypothesis along with algebra and other known facts to transform separately the left-hand and righthand sides until you see that they are the same.



























Nathematical Induction IIn a geometric sequence, each term is obtained from the preceding one by
multiplying by a constant factor.If the first term is 1 and the constant factor is r, then the sequence is 1, r, r^2 , r^3 , .The sum of the first n terms of this sequence is given by the formula $\sum_{i=0}^{n} r^i = \frac{r^{n+1}-1}{r-1}$ for all integers $n \ge 0$ and real numbers r not equal to 1.

Instructor: Murad Njoum

Mathematical Induction I

The expanded form of the formula is

$$r^{0} + r^{1} + r^{2} + \dots + r^{n} = \frac{r^{n+1} - 1}{r - 1},$$

and because $r^0 = 1$ and $r^1 = r$, the formula for $n \ge 1$ can be rewritten as

$$1 + r + r^{2} + \dots + r^{n} = \frac{r^{n+1} - 1}{r - 1}$$

Instructor: Murad Njoum

66





















Proving an Equality

The proofs of the basis and inductive steps in Examples 1 and 3 illustrate two different ways to show that an equation is true:

(1) transforming the left-hand side and the right-hand side independently until they are seen to be equal, and

(2) transforming one side of the equation until it is seen to be the same as the other side of the equation.

Sometimes people use a method that they believe proves equality but that is actually invalid.

Instructor: Murad Njoum

77

Proving an Equality

For example, to prove the basis step for Theorem 5.2.3, they perform the following steps:

$$\sum_{i=0}^{0} r^{i} = \frac{r^{0+1} - 1}{r - 1}$$
$$r^{0} = \frac{r^{1} - 1}{r - 1}$$
$$1 = \frac{r - 1}{r - 1}$$
$$1 = 1$$

Instructor: Murad Njoum







Deducing Additional Formulas

As with the formula for the sum of the first *n* integers, there is a way to think of the formula for the sum of the terms of a geometric sequence that makes it seem simple and intuitive. Let

Then
$$S_n = 1$$

r

$$S_n = 1 + r + r^2 + \dots + r^n.$$

and so

$$rS_n = r + r^2 + r^3 + \dots + r^{n+1},$$

$$S_n - S_n = (r + r^2 + r^3 + \dots + r^{n+1}) - (1 + r + r^2 + \dots + r^n)$$

= $r^{n+1} - 1.$ (Instructor: Murad Nioum) 5.2.1

Deducing Additional Formulas

But

$$rS_n - S_n = (r-1)S_n.$$

Equating the right-hand sides of equations (5.2.1) and (5.2.2) and dividing by r – 1 gives

$$S_n = \frac{r^{n+1} - 1}{r - 1}.$$

This derivation of the formula is attractive and is quite convincing. However, it is not as logically airtight as the proof by mathematical induction.

Instructor: Murad Njoum

83

5.2.2

Deducing Additional Formulas

To go from one step to another in the previous calculations, the argument is made that each term among those indicated by the ellipsis (...) has such-and-such an appearance and when these are canceled such-and-such occurs.

But it is impossible actually to see each such term and each such calculation, and so the accuracy of these claims cannot be fully checked.

With mathematical induction it is possible to focus exactly on what happens in the middle of the ellipsis and verify without doubt that the calculations are correct.

Instructor: Murad Njoum

Mathematical Induction II

In natural science courses, deduction and induction are presented as alternative modes of thought—deduction being to infer a conclusion from general principles using the laws of logical reasoning, and induction being to enunciate a general principle after observing it to hold in a large number of specific instances.

In this sense, then, *mathematical* induction is not inductive but deductive.

Once proved by mathematical induction, a theorem is known just as certainly as if it were proved by any other mathematical method.

Instructor: Murad Njoum

Mathematical Induction II

Inductive reasoning, in the natural sciences sense, *is* used in mathematics, but only to make conjectures, not to prove them.

For example, observe that

$$1 - \frac{1}{2} = \frac{1}{2}$$
$$\left(1 - \frac{1}{2}\right)\left(1 - \frac{1}{3}\right) = \frac{1}{3}$$
$$\left(1 - \frac{1}{2}\right)\left(1 - \frac{1}{3}\right)\left(1 - \frac{1}{4}\right) = \frac{1}{4}$$

Instructor: Murad Njoum

Mathematical Induction II

$$\left(1-\frac{1}{2}\right)\left(1-\frac{1}{3}\right)\cdots\left(1-\frac{1}{k}\right)=\frac{1}{k},$$

then by substitution

$$\left(1-\frac{1}{2}\right)\left(1-\frac{1}{3}\right)\cdots\left(1-\frac{1}{k}\right)\left(1-\frac{1}{k+1}\right) = \frac{1}{k}\left(1-\frac{1}{k+1}\right)$$
$$= \frac{1}{k}\left(\frac{k+1-1}{k+1}\right)$$
$$= \frac{1}{k}\left(\frac{k}{k+1}\right) = \frac{1}{k+1}.$$

Thus mathematical induction makes knowledge of the general pattern a matter of mathematical certainty rather than vague conjecture.

Instructor: Murad Njoum













































Outline a proof by math induction for the statement:	
For all integers $n \ge 0$, $5^n - 1$ is divisible by 4.	
Proof by mathematical induction:	
Let the property P(<i>n</i>) be the sentence	
5^n – 1 is divisible by 4. \leftarrow the property P(n)	
Show that the property is true for $n = 0$:	
We must show that 5° – 1 is divisible by 4.	
But $5^{0} - 1 = 1 - 1 = 0$, and 0 is divisible by 4 because $0 = 4 \cdot 0$.	
Show that for all integers $k \ge 0$, if the property is true for $n = k$,	
then it is true for $n = k + 1$:	
Let k be an integer with $k \ge 0$, and suppose that	
[the property is true for $n = k$.	
5^{k} – 1 is divisible by 4. \leftarrow inductive hypothesis	
We must show that <i>P(k + 1) is true</i> .	
5 ^{k+1} – 1 is divisible by 4.	110
The property is true for $h = k$. $5^{k} - 1$ is divisible by 4. \leftarrow inductive hypothesis We must show that $P(k + 1)$ is true. $5^{k+1} - 1$ is divisible by 4.	110











